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1. Remove parentheses and simplify the following expressions.

(a). x− (−3y + 2x− z) = −x+ 3y + z

(b). 10− [3x+ 2− (6x+ 7)] = 15 + 3x

(c). (3a− b)− [2a− (a+ b)] = 2a

(d). x− 2(x+ 3y) + 4y = −x− 2y

(e). [(a+ 3b)− a]− [a− (a− 3b)] = 0

(f). (a+ 1)− {(a− 2) + 2[(x+ 3)− 4(x+ 4)]}= 6x+ 29

2. Evaluate the following absolute value expressions.

(a). |4− 9|= 5

(b). |4| − |9|= −5

(c). |4| − | − 9|= −5

(d). | − 3| − |5− 2|= 0

(e). | |2− 3| − | − 7 + 1| |= 5

(f).
3− | − 4|
|22 − 32|

= −1
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1 parentheses/abs value 2 exponents/powers 3 multiplication/division 4 addition/subtraction

3. Evaluate the following without a calculator. Remember order of operations.

(a).
(−7)(−8)

−14
= −4

(b).
(−15)(4)

(2)(−10)
= 3

(c). 3 + 8÷ 4 + 3 = 8

(d). (−2) · 4 + 10÷ 5 = −6

(e). (−1)3 − 2(3− 5) = 3

(f). 2 + 3 · 2− (4− |6− 8|) = 6

(g). 3 · 8÷ 2÷ 2 = 6

(h).
(−4)(5)− 52

(−2)2 + 32
= −45
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(i).
−4 · 5− 52

−22 + 32
= −9

(j).
4 + 2(3− 5)− 2 · 3
|2− 4|+ 2 · 3− 1

= −6
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Homework: Section 0.2, p. 14: #3, 5, 15-25(odd), 45, 47, 49


